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EXCESS MILEAGE SURCHARGE (EMS) 
 
EXCESS MILEAGE SURCHARGE (EMS) 
 
#  WHAT DO YOU MEAN BY “EXCESS MILEAGE SURCHARGE” (EMS)? 
 

  ß,Dlsl ekbZyst ljpktZÞ (EMS) D;k gksrk gSa\ 
 

  #  If the EMA is insufficient or not applicable 
and the TPM still exceeds the MPM, it 
becomes necessary to impose a 
surcharge. 

 ;fn EMA de gS ;k ugha gSa vkSj TPM - MPM ls 
c<+k gSa rks gesa ml ;k=k ds fy, vfrfjDr fdjk;k ysuk 
gksxk] ftls ge EMS dgrs gSaA 

 
#  WHAT IS THE TICKETING CODE FOR “EXCESS MILEAGE SURCHARGE” (EMS)? 
 

  ß,Dlsl ekbZyst ljpktZÞ (EMS) dks fVdV esa fy[kus ds fy, fdl dksM dk ç;ksx fd;k tkrk gSa\ 
 

  #  Ticketing Code “M”  fVdV esa fy[kus ds fy, “M” dksM dk ç;ksx gksrk gSaA 
 
FORMULA FOR EXCESS MILEAGE SURCHARGE 
 
#  EXCESS FARE WHICH IS CHARGED FROM THE PASSENGER IS BASED UPON WHAT? 
 

  ftruk Hkh vfrfjDr fdjk;k ;k=h ls fy;k tkrk gSa] og fdl ij vk/kkfjr gksrk gSa\ 
 

  #  Excess Mileage Surcharge is based on 
“%”. 

 ftruk Hkh vfrfjDr fdjk;k fy;k tkrk gSa og ilsZUVst 
“%” esa fy;k tkrk gSaA 

 
#  HOW MUCH EXTRA FARE CAN BE CHARGED FROM THE PASSENGER? 
 

  fdlh Hkh Qs;j dk fdruk vfrfjDr fdjk;k fy;k tk ldrk gSa\ 
 

  #  You can surcharge any fare by:- 
 5% or 
 10% or 
 15% or 
 20% or 
 25% 

 fdlh Hkh Qs;j dk vfrfjDr fdjk;k vki%& 
 5% ys ldrs gSa ;k fQj 
 10% ys ldrs gSa ;k fQj 
 15% ys ldrs gSa ;k fQj 
 20% ys ldrs gSa ;k fQj 
 25% ys ldrs gSa 

 
#  HOW MUCH MAXIMUM YOU CAN SURCHARGE ANY FARE? 
 

  vf/kdre vki fdlh Qs;j dk fdruk vfrfjDr fdjk;k ys ldrs gSa\ 
 

  #  Maximum you can surcharge any fare by 
25%. 

 vf/kdre vki fdlh Qs;j dk 25% vfrfjDr fdjk;k 
ys ldrs gSaA 

 
#  IF ANY SURCHARGE IS MORE THAN 25%, IN THAT CASE WHAT YOU HAVE TO DO? 
 

  ;fn dksbZ ljpktZ 25% ls vf/kd gSa] ml n’kk esa ml ;k=k dk D;k djsaxs\ 
 

  #  If any surcharge is for more than 25%, in 
that case you have to “Break The 
Journey”. 

 ;fn dksbZ ljpktZ 25% ls vf/kd gS ml n’kk esa ml 
;k=k ds nks VqdM+sa djus gksaxsaA 
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#  WHAT IS THE FORMULA TO FIND OUT THE PERCENTAGE (%) OF THE SURCHARGE? 
 

  ljpktZ dk ilsZUVst ¼%½ fdl çdkj fudkyk tkrk gSa\ 
 

  #  The formula to find out the percentage of 
the surcharge is:- Divide the TPM total by 
the MPM 

 ljpktZ dk ilsZUVst ¼%½ fudkyus ds fy, TPM dks 
MPM ls Hkkx nks 

 
#  WHAT WILL YOU DO, IF THE RESULT IS OVER 1.00000 BUT NOT HIGHER THAN 1.05? 
 

  ;fn ifj.kke 1.00000 ls vf/kd gSa] ijUrq 1.05 ls de gSa] rks ml n’kk es ml Qs;j dks fdRkuk ljpktZ djsaxs\ 
 

  #  Surcharge the fare by: 5%  rks ml Qs;j dks 5% ljpktZ dhft, 
 
#  WHAT WILL YOU DO, IF THE RESULT IS OVER 1.05000 BUT NOT HIGHER THAN 1.10? 
 

  ;fn ifj.kke 1.05000 ls vf/kd gSa] ijUrq 1.10 ls de gSa] rks ml n’kk es ml Qs;j dks fdRkuk ljpktZ djsaxs\ 
 

  #  Surcharge the fare by: 10%  rks ml Qs;j dks 10% ljpktZ dhft, 
 
#  WHAT WILL YOU DO, IF THE RESULT IS OVER 1.10000 BUT NOT HIGHER THAN 1.15? 
 

  ;fn ifj.kke 1.10000 ls vf/kd gSa] ijUrq 1.15 ls de gSa] rks ml n’kk es ml Qs;j dks fdRkuk ljpktZ djsaxs\ 
 

  #  Surcharge the fare by: 15%  rks ml Qs;j dks 15% ljpktZ dhft, 
 
#  WHAT WILL YOU DO, IF THE RESULT IS OVER 1.15000 BUT NOT HIGHER THAN 1.20? 
 

  ;fn ifj.kke 1.15000 ls vf/kd gSa] ijUrq 1.20 ls de gSa] rks ml n’kk es ml Qs;j dks fdRkuk ljpktZ djsaxs\ 
 

  #  Surcharge the fare by: 20%  rks ml Qs;j dks 20% ljpktZ dhft, 
 
#  WHAT WILL YOU DO, IF THE RESULT IS OVER 1.20000 BUT NOT HIGHER THAN 1.25? 
 

  ;fn ifj.kke 1.20000 ls vf/kd gSa] ijUrq 1.25 ls de gSa] rks ml n’kk es ml Qs;j dks fdRkuk ljpktZ djsaxs\ 
 

  #  Surcharge the fare by: 25%  rks ml Qs;j dks 25% ljpktZ dhft, 
 
#  WHAT WILL YOU DO, IF THE RESULT IS OVER 1.25000? 
 

  ;fn ifj.kke 1.25000 ls vf/kd gSa] rks ml n’kk es ml Qs;j dks fdRkuk ljpktZ djsaxs\ 
 

  #  Break the journey  rks ml ;k=k ds nks VqdM+ssa dhft, ¼cszsd nk tuÊ½ 
 
#  WHEN USING THE “EMS” FORMULA, IN THE CALCULATOR AFTER THE DECIMAL HOW MANY 

FIGURE YOU HAVE TO CONSIDER? 
 

  tc ßEMSÞ QkeqZys dk ç;ksx fd;k tkrk gSa] rks dyD;qysVj esa n’keyo ds ckn fdrus vadks dks ns[kuk iM+rk gSa\ 
 

  #  When using this formula always check up 
to five decimal places in calculator. 

 tc “EMS” QkeqZys dk ç;ksx fd;k tkrk gSa rks 
dyD;qysVj esa n’keyo ds ckn 5 vadks dks ns[kuk iM+rk 
gSaA 

 
#  WHAT “M” REPRESENTS? 
 

  vxj [kkyh “M” fy[kk gSa rks bldk D;k eryc gSa\ 
 

  #  Within Mileage (TPM is less than MPM)  bldk eryc gSa TPM - MPM ls de gSa 
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#  WHAT “5M” REPRESENTS? 
 

  vxj “5M” fy[kk gSa rks bldk D;k eryc gSa\ 
 

  #  Fare is surcharge by 5%  bldk eryc Qs;j ls 5% vf/kd fdjk;k fy;k tk jgk 
gSaA 

 
#  WHAT “10M” REPRESENTS? 
 

  vxj “10M” fy[kk gSa rks bldk D;k eryc gSa\ 
 

  #  Fare is surcharge by 10%  bldk eryc Qs;j ls 10% vf/kd fdjk;k fy;k tk 
jgk gSaA 

 
#  WHAT “15M” REPRESENTS? 
 

  vxj “15M” fy[kk gSa rks bldk D;k eryc gSa\ 
 

  #  Fare is surcharge by 15%  bldk eryc Qs;j ls 15% vf/kd fdjk;k fy;k tk 
jgk gSaA 

 
#  WHAT “20M” REPRESENTS? 
 

  vxj “20M” fy[kk gSa rks bldk D;k eryc gSa\ 
 

  #  Fare is surcharge by 20%  bldk eryc Qs;j ls 20% vf/kd fdjk;k fy;k tk 
jgk gSaA 

 
#  WHAT “25M” REPRESENTS? 
 

  vxj “25M” fy[kk gSa rks bldk D;k eryc gSa\ 
 

  #  Fare is surcharge by 25%  bldk eryc Qs;j ls 25% vf/kd fdjk;k fy;k tk 
jgk gSaA 

 
HOW TO ENTER IN IATA/UFTAA FARE FORMULA 
 
#  EXAMPLE: 
 

  #   
Itinerary: Budapest (Code – BUD / State – X––––––––X / Country – Hungary / Continent 

– Europe / Sub Groups – X––––––––X / Region – X––––––––X / Sub Area – Europe / 
Area – 2) – MA – Tunis (Code – TUN / State – X––––––––X / Country – Tunisia 
/ Continent – Africa / Sub Groups – X––––––––X / Region – X––––––––X / Sub Area – 
Europe / Area – 2) – TN – Cairo (Code – CAI / State – X––––––––X / Country – 
Egypt / Continent – Africa / Sub Groups – X––––––––X / Region – X––––––––X / Sub 
Area – Middle East / Area – 2) – MS – Dubai (Code – DXB / State – X––––––––
X / Country – United Arab Emirates / Continent – Asia / Sub Groups – X––––––––
X / Region – X––––––––X / Sub Area – Middle East / Area – 2) 

  

Fare Basis: Normal First Class 
  

Stopovers: At All Ticketed Points 
  

TPM: BUD-TUN 652, TUN-CAI 1302, CAI-DXB 1500 
  

       
TPM  HIP TABLE 
       
 BUD  BUD BUD   
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 652 TUN  TUN - TUN  
1302 CAI  CAI - - CAI 
1500 DXB  DXB 1450.89 - - 

       
3454 TPM TOTAL     

        
 

IATA/UFTAA FARE FORMULA     
      
 STVR IN ALL TKT POINTS     
FCP BUD – DXB     
NUC F OW 1450.89 (EH)   
RULE Y118 (NOT A SPECIFIED ROUTING)     
MPM 3024 (EH)     
TPM 3454 (3454 – 100 = 3354 (New TPM)     
EMA -100 E/XXX     
EMS 15M     
HIP NIL     
RULE NIL     
AF +15% = 1668.52     
CHECK BHC NA     
TTL 1668.52     
IROE HUF X 279.892000 HUF 467005.39     
LSF HUF 467100     

  
 
HOW TO ENTER IN FARE LADDER 
 
#  IN “MANUAL TICKET ENTRY”, WHERE WE HAVE TO WRITE DOWN “M” CODE AND WHAT DOES IT 

INDICATES? 
 

  eSU;qvy fVdV ,UVªh esa ßMÞ dksM dgk¡ fy[kk tkrk gSa] rFkk og D;k pht n’kkZrk gSa\ 
 

  #  Enter the code “M” (with percentage of 
surcharge if any) on the space above the 
fare indicates the Excess Mileage 
Surcharge if any. 

 “M” dksM dks ¼ljpktZ ds lkFk ;fn gSa rks½ Qs;j ds 
Åij fy[kk tkrk gSa tks fd ;g n’kkZrk gSa dh Qs;j dks 
fdruk ilsZUVst “%” ljpktZ fd;k x;k gSaA 

 

  #  Example: 
 

MANUAL TICKET ENTRY 
   
FROM / TO   

BUD CARR FARE CALC 
TUN MA E/XXX 
CAI TN 15M 
DXB MS 1668.52 
-----   

   
   
 ROE 279.892000 

NUC  1668.52 

TPM is higher than MPM

After giving the EMA of 
100 miles, still the TPM 
(3354) is higher than 
MPM (3024). In that 
case we will find out 
the % of the surcharge 
by dividing the TPM 
with MPM 
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HUF  467100 
  

 
 
HOW TO ENTER IN AUTOMATED TICKET ENTRY 
 
#  IN “AUTOMATED TICKET ENTRY”, WHERE WE HAVE TO WRITE DOWN “M” CODE? 
 

  vkWVksesVsM fVdV ,UVªh esa ßMÞ dksM dgk¡ fy[kk tkrk gSa\ 
 

  #  The code “M” (with percentage of 
surcharge if any) is entered after the 
destination point and before fare. 

 “M” dksM dks ¼ljpktZ ds lkFk ;fn gSa rks½ lcls 
vk[khjh ‘kgj ¼DESTINATION½ ds ckn rFkk Qs;j ls 
igys fy[kk tkrk gSaaA 

 

  #  Example: 
 

Automated Ticket Entry 
 

BUD MA TUN TN CAI MS DXB E/XXX15M1668.52NUC1668.52END 
ROE279.892000 

  
 


